HP288V-LGS
LRI

Installation Instruction

*EE  BERERTWARITIRE  BiEBRERS , FESEEREI , EixS
EEithERIERT , RMESBSFE | (FRBSFRIE.
*Notes : The installation of battery pack should only be attempted by a qualified
technician.As the voltage of battery pack is very high,and there is shock hazard, so
please wear insulating gloves and also use insulating handle tools when installing the
battery pack.
LEEAAREIREY | RRAKRPBHITIRE,

Operate according to the installation instruction.

TeESHEAM RSB MEREFTIAEMERER | BERtEREERAAESHEaRs

TARER .

Don't mix our battery modules with those of other manufacturers,or new battery
modules with used battery modules,and don't mix battery modules within a battery
pack with those in other battery pack.

3 Bt E AR R A AR R B, Sif.

Don't twist and bend battery modules and accessories when assembling battery pack.
4 FEithEITELRSERT , FRIARIRAVIE. fuiRkAcRERIE | FOLEAGER,

Don't connect the anode and cathode of battery module in reverse when assembling
battery pack. Prevent battery short circuit.

5.4, BEEERAESIE  BRIERNMSIET RIAE R,

Fasten bolts and nuts with appropriate torque,avoid loose connection or damaging

other accessories with too large torque

B2ERA4  Packing details

FE £ W #HE
NO. Name Number
EaithiEte PO304P 10
1 Battery
module PO3 4N 10
2 BIERESEE 1
Voltage acquisition wiring hamess
) IEEIT R "
Temperature sensor base
p HEER 13
Connection piece
5 M5 55 40
M3 Nuts
6 M e 40
M5 Bolts
. BEEE 3
Insulating sleeve

ISR RIEIRE PR RN E RIS REREE RS R

02,08,13F0181&ELRAYERH

=

Place the battery modules according to the polarity marked in the
picture,and install the temperature sensors on the bottom of

module 02,module 08,module 13 and module 18 .

FEEE AR E L R A IR EE . 2% M SIZAR BT, STiG IBA2 7

ENLERRIT EMSIZE.

PHIRFLA,

Fix the battery modules on the base of original vehicle.First screw
the bolts into the bolt holes when installing the M5 bolts,then

tighten M5 bolts after accurate positioning.

=) R BE A )
Temperature sensor
module 02,08,13,18

Temperatu re sensor base

2 BRI EEEE R REE R RRERR SRR ERELR.
Install the connection pieces according to the indication of blue
arrow and install voltage acquisition wiring harness according to
the harness serial number.

RERIREIRELENE
Original cathode wire

14715 \ 16/17 \18/19
Conne o\ 12/13 \
02/03 \ 04/05 "\ 06107 \

Orlglnal anode wire

T
]

w7 | odffR| 3| meie
11-11 11-9 module 09 11-4°%"¢ 12
module 01 44_y 01 0\ 11g milo€,,  modue1s  module19
module 03 module 07
RS 2 R
Original service plug connection piece
oy 17118 13/14
connect
0 15/16 Ma/ connecl 827&;7 connect
01/02

___A___ o A e,

module 19

10-2 le 1
module 17 module 15 10-6 10-8 10-10
10-4 module 09 module 05 module 01
module 13




3 RRRFIERIRS G R EEEERER.
Install original anode and cathode wires
of service plug.

BREREELIEREN
Voltage acquisition
wiring connection piece

and connection piece

BEREZEER
Voltage acquisition

wiring connection pip

module 01

REE R -

Cathode connection piece
TEtRiERE A
Anode connection

module 11/12

EEEERER

A

Z

REHEREER
Original service plug
connection piece

FEREL
M52} Voltage acquisition
M5 Nuts  Wiring connection piece

b

o

€

iece

4 REIRRER AR S EE TR S ORERT.
Install the black module cover plates.Then install
the insulating sleeve at the connecting rod of the
bracket.

RIBES
install the insulating sleeve

5.4540 iR 45ohk/S, HP288V-LGSEE e 4 5e k.
Complete the installation of HP288V-LGS battery pack after
installing 40 battery module cover plates.

6. L%t B R S EE It B SRR BRI, FHIEFIE R A BB
Install battery pack ASSY cover plate,then put back in the vehicle
and correctly connect all the accessories.

7 FA\TCIRG RRHEIEE SN ER.
Install the original service plug after checking everything correctly.
Finally start the vehicle.




	WPS Office PDF Bookmark
	HP288V-LGS

аޢપ੸؍

Installation Instruction

ূޢ੸ԕ

͙ࡨ۞͹ऄࡐԕ؍੸ंЋЏыմ଒੧ݱҁͫऄࡐԕऄԹૻ௤ͫ؂֨वऄӠङԮகͫ֜ث࠴

۴߬ٗӀ澞৛্


